Whitman College

Econ 308

Final Exam

December 14, 2005

Write all answers in your bluebook.  Show all of your work.  The exam ends at noon.

1.  Consider the Solow Growth Model, with a Cobb-Douglas production function for the economy.  Assume that the population grows at the rate n, and that there is no labor-augmenting technological growth.  Read all of parts (a)-(d) below, before you answer any of these questions.

(a)  (10pts)  Draw a graph with capital per worker on the horizontal axis, and output per worker on the vertical axis.  Assume a constant savings rate, s.  On your graph, indicate the steady-state level of capital per worker (k*), output per worker (y*), consumption per worker (c*), and investment per worker (i*).  

(b)  (10pts)  At what rate would output per worker grow in the steady state?

(c)  (10pts)  Suppose that the population growth rate falls to n’, with all else constant.  Indicate on your graph the new steady-state level of capital per worker (k*’ ) output per worker (y*’), consumption per worker (c*’), and investment per worker (i*’) now that the growth rate of the population is lower than it was before.
(d)  (5pts)  At what rate would output per worker grow in the new steady state with its lower population growth rate?

2.  Consider the Cobb-Douglas production function  Y = A KL1-, where Y is real aggregate output, A>0 is a parameter measuring the productivity of the available technology, K is the amount of capital employed, L is the amount of labor employed, and  is a fraction between 0 and 1.  Suppose Economies A, B and C each has a Cobb-Douglas production function.  Use the information about the economies given in the table below to answer parts (a) and (b).

	Economy
	
	Average annual percentage change in Y
	Average annual percentage change in K
	Average annual percentage change in L

	A
	0.4
	4.2%
	2.0%
	5.0%

	B
	0.3
	3.2%
	1.5%
	3.0%

	C
	0.2
	2.2%
	1.0%
	1.0%


(a)  (15pts)  Calculate the Solow Residual for each economy.

(b)  (15pts)  Which economy has experienced the most technological progress?  

Explain your reasoning.

3. (20pts)  Explain to a non-economist how to use Purchasing Power Parity to predict the exchange rate between the dollar and the euro next year.  You should explain any symbols or formulas that you refer to.

4. (20pts)  Explain, in words, why the LM curve is upward-sloping.  Refer to a derivation of the LM curve as you work through your explanation.

5. Suppose that the federal government cuts taxes and the central bank tightens monetary policy.  The joint effect of these fiscal and monetary policies leaves real aggregate output unchanged.  Use the Keynesian IS-LM model to complete parts (a) and (b) below.  

(a)  (10pts) On an IS-LM diagram, indicate the macroeconomic equilibrium before the policies go into effect, and the new equilibrium after they go into effect.  (You do not need to derive the LM or the IS curves in your diagram.)  

(b)  (10pts)   What happens to investment expenditures?  Explain.

6.  Consider the question:  “Is the Short Run Phillips Curve relationship between unemployment and inflation inevitable, so that if policy-makers want to achieve lower inflation, they must suffer higher unemployment as a result?”

(a)  (25pts)  Use the Keynesian sticky wage Aggregate-Supply Aggregate-Demand model to thoroughly answer the question.  

(b)  (25pts)  Use the Lucas Imperfect Information Aggregate Supply Curve model to thoroughly answer the question.  

7.  (25pts)  If the United States economy were to shrink at a 1.1% annual rate in real terms over the coming year, what would be the appropriate policy reaction according to the real business cycle (RBC) school of thought?  If the US economy were to grow at a 5.1% annual rate in real terms over the coming year, what would be the appropriate policy reaction according to the RBC school of thought?  Explain why the policies you describe are the appropriate reactions in the RBC model.  Your explanation should include a thorough description of what is happening in the labor markets in each case.
